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lin[Empfindlichkeit] logLo = —0,35[)—Us7d*
logVo = -0,35l-Uss1?  logMo= —0,35[1-Uss]?
logVa=logVo +0,00 logLa= logLo+0,02
[Vo, La, M2, ] logMV 2= logM-+0,02

—

lin[Sattigung] logLo = —0,35[)~Us7*
logVo = -0,35[-Ussd®>  logVo= —0,351)~Ussd?
logVa= log Vo +0,00 logLa=logLo+0,02

[Vo/Vo, Vo,V 5/Vo,] loglf==Yog M /+0,02
M Séltigung V

Uy=(\-550)/50
10 T™M  Adaptation
=1:1  L&M: 557
557: =0l

L0=095 La=0.95
Vo=10 Va=10
M0=0.95 M3a=0.95

D

570 495EC HobEC

2 : Adaptaton
1 1\ Uem: 557

495Ec  565Ec

600Ad/nm 700xc 400

lin[Empfindlichkeit] logLo = -0,35,~Us7q
logVo = —0,35l-ussd?  logMo= —0,35[1~us:d2
log  =-0,35)-u ]%+0,02logLa= logLy+0,02
[Vo, La, 1 logMa=logMq+0,02
S u\=(A\-550)/50
1,0 TMS Adaptaton
=1:1:1 L&M: 557
557:tr0'O
L0=0.95 La=0.95
Vpo=10 Va=1.0

M0=0.95 M3a=0.95
S0 =0.02 S =0.02

49pEC  SBHEC

600Ad/nm 700xc 400

lin[Séttigung] logLo = -0,35u)—Us7q
logVo = -0,35[-Ussd®>  logVo= —0,351~Uss:
log =-0,35u\—u ]2+0,02Iog La=logLo+0,02

[Vo/Vo,LWVo, 1:/Vo, Vo] loglfa=Yogl!/+0,02
S Siittigung V/

M3 7 daptation

=1:1:1\ | &M: 557
L=0.0

4ysec  565Ec

600Ad/nm 700 400

600Ad/nm 700xc 400

lin[Empfindlichkeit] logLo = —0,35[—Us7d*
logVo = -0,35l-Uss1?  logMo= —0,35[1-Uss]?
logVa=logVo +0,00 logLa= logLo+0,02
[Vo, La, M2, ] logMV 2= logM-+0,02

lin[Séttigung]

logVo = -0,35[i,~Uss72 log
logVa= log Vo +0,00

[Vo/Vo,La/Vo,M Vo,

logLo = —0,35[)—Us7*
= —0,35[,-Us:92
logLa=logLo+0,02

] logVi2 = log M ,+0,02

Uy=(A\-550)/50
10 T™M  Adaptation
=1:1  L&M: 557
- ts=0.04

L0=0.95 La=0.95
Vo=10 Va=10
M0=0.95 M3a=0.95

495Ec  565EC

2

Ma Sattigung V
'
1
1

495Ec  565Ec

600Ad/nm 700xc 400

lin[Empfindlichkeit] logLo = -0,35)~Us7q
logVo = -0,35l-Uss1>  logMo= -0,35[1-Us.]?
log =-0,35u,-u ]2+0,02IogLa= logLo+0,02

1'0rT TMS Adaptation
1
1
1

1 ! Lo=0.9F La=0.95
1
1

S =0.02 Sg =0.02

] logMV 2= logM-+0,02
=1:1:1 L&M: 557
0,5
/ Vo=1r vg=10
i
0,01 144 495Ec  565EC

lin[Séttigung]

logVo = —0,35[1)—Uss7]2

log =-0,35u\—u
[Vo/Vo,LS 0, 1e/Vo,

a
2

600Ad/nm 700xc 400

—0,35[\—
1%+0,02logL 2= logLo+0,02

Vgl logVia=lo3M-+0,02
Sattigung V/

L:M:S  Adaptation

1:1:1 L&M: 557
t=0.04

495Ec  565Ec

Sa u,=(A-550)/50
557:tr—0.04
Mo=".95 Ma=0.95
5
400 50 6002d/nm 700)c 400

600Ad/nm 700xc 400

lin[Empfindlichkeit] logLo = —0,35[\—Us7q)?
logVo = —0,35[—Uss7]? logM o= —0,35[y—Us4:] 2
=-0,350)-u ]%-1,17logLa= logLo+0,17

1 Sd logM = logV,—0,13
Sa La

u,=(\-550)/50
/| Ty

L:M:S  Adaptation
=16:8:1 L&M: 557

Lp=0.95 Lg=1.34
Vo=10 Va=10
Mg=0.95 Ma=0.67
S0 =0.02 Sa =0.0
Y, 4y5EC  HB5EC

lin[Sattigung] logLo = 0,350 —Us7q 2
logVo = —0,35[1)\—U557]2 logMo= -0,350,-u ]2
log =-0,35U-u ]%-1,17logLa= logLo+0,17
[VotVo, L Vo, MoV, Vo) ogVl.= &g M ,v0,13
Sa Satigung V

LM:S | Aljaptation
=16:8:AL¢:M: 557

495EC 565Ec

600Ag/nm 700Ac 400

lin[Empfindlichkeit] logLo = —0,35)~Us7d
logVo = —0,35[—Uss7]? logM o= —0,35[y—Us4:] 2
=-0,350)-u ]2+0,02logLa= loglLo+0,17
' Sa //I \ logMV 2= logM—0,13
Sa da u,=(A-550)/50
/I O¥ L:M:S  Adaptation
’ =4:2:3 L&M: 557

Lp=0.95 Lg=1.34
Vo=1.0 Va=10
Mg=0.95 Ma=0.67
S0 =0.02 Sa =0.02

495EC  565EC

600Ag/nm 700x; 400

lin[Sattigung] logLo = —0,35l)—Us7
logVo = —0,35[.1)\—I.1557]2 logMo= -0,35)-u ]2
log  =-0,350y-u ]%+0,02logLa= logL¢+0,17
[VoVo,LaVo, 1Vo, Vo]  fogMa= I\g +0,13
Sa MaLa Siittigung V
[RYES] \:Eaptatlorl

=4:2:3 \L &M: 557
=0.0

\

495kEC 565Ec

600Ag/nm 700Ac 400

600Ag/nm 700x; 400

lin[Empfindlichkeit] logLo = —0,35[\—Us7q)?
logVo = —0,35[—Uss7]? logM o= —0,35[y—Us4:] 2
=-0,350)-u ]%-1,17logLa= logLo+0,17

lin[Sattigung]

logLo = —0,35[,~Us7d*

logVo = —0,35[,—Uss]2  logVio= 0,35} —Us.]2

log =-0,35u\—u
[Vo/Vo,LalVo,Ma/Vo,
Sa

12-1,17logLa= logLo+0,17
Vo] =logMV+—0,13
Sattigung V

1 Sd logM 2= logV—0,13
Sa a La
1

U)=(A-550)/50
I L:M:S  Adaptation
" =16:8:1 L&M: 557
o7, 15004
Lp=0.95 Lg=1.34
Vo=1.0 Va=1.0
M@=0.95 Ma=0.67
=0.02_ S =0.0
i 495EC  565EC
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L‘%. :S Adaptation
=168+ : 557
ts=0.04
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lin[Empfindlichkeit] logLo = —0,35)~Us7d
logVo = —0,35[—Uss7]? logM o= —0,35[y—Us4:] 2
=-0,350)-u ]2+0,02logLa= loglLo+0,17
\ logMV 2= logM—0,13
a uy=(A-550)/50

500

lin[Sattigung]

logVo = —0,35[1)—Uss72

log =-0,35u\—u

[VolVo,La/Vo, 12/Vo, Vo] =log
Sa Ma.a

600Ag/nm 700x; 400

Iog Lo = —0,35[,I>\—U57o]
logM o= —0,35Li\~Us.]?
12+0,02logLa= logLo+0,17
-0,13
Séttigung V

L:M:S  Adaptation

=4:2:3 L&M: 557
557:(50.04

Lp=0.9F Lg=1.34

Vo=1r Va=1.0

Mg=r.95 Ma=0.67

S~ =0.02_ Sg =0.02
495Ec  565EC

L‘%.S Adaptation
=4:2% 3~L&M: 557
ts=0.04

495Ec  565EC

600Ag/nm 700Ac 400
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